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E&h RERERB 11 0082 [( < 0.016 ) ~ 0.33
=i ENE] 12 019 |C < 0.0080 ) ~ 0.55
pkitl KB RAER 11 0.029)[( < 0.016 ) ~ 0.066
T L HARER 11 0.13 |( 0016 ) ~ 0.22
e 5] i KB 12 0.045 0015 ~ 0.10
L e 27 2R 1L S AT A=) 12 0.12 0011~ 0.33
|& SR HEER 12 0.15 0035 ~ 0.46
& B S BEER&IBE 12 0.094 0031 ~ 0.28
B HRET Y IREMAA 12 0076 [( < 0.020 )~ 0.30
|2 7 BBHARITAT BT — RIRB A RBE R 12 0.057 [ < 0.0028 ) ~ 0.12
= EAME/\BFEX | BISEAD 12 0037 [( < 0.0090 ) ~ 0.12
EAMBERR ENBAD 12 0.13 |( 0.018 )~ 0.77
dEAMENELR  [LAMBINE 12 0.20 |( 0.015 )~ 0.80
XEMATH NERIER 12 0038 [( < 0010 ) ~ 0.10
2Bk ABAHREEE 12 0.066 [( < 0.0050 ) ~ 0.18
aEm BEEHNEEL H— 12 0.056 ) |( 0022 )~ 0.12
R THEEE 12 0052 [( < 0.050 ) ~ 0.21
HEM FREMPEITERABT X IRESE 6 36 |( < 020 )~ 13
R ERRERD t 12 0026 [( < 0.0048 ) ~ 0.069
H A JL#R A BT SEAERRD 12 0019 [ < 0.0048 ) ~ 0.046




roOOTFLY (BE)

TRBEREE( 1 g/m3)

HMERFRE A7 AEARE WS | Bk FHfE e
Hg/m3 F/ME RAME
EF:3 ALIRH R R X EAEI=E 5] B 12 0.090 [ < 0.0060 ) ~ 0.18
EF:3 EUNC S £ H+B B 12 0011 [ < 0.0023 ) ~ 0.027
ElF:3 FaEm NFERIERD B 12 0.0062 [ < 0.0048 ) ~ 0.027
EFE i EAlEE) A 12 0.034 [( 0.0078 ) ~ 0.10
EFE —Mh —EH=REBR B 12 0034 [( < 0.0037 ) ~ 0.078
EHE EHRR EHAERD B 12 0.039 [ < 0.0066 ) ~ 0.11
7 BB Bt 12 0044 [( < 0.010 ) ~ 0.21
L2WMEBHEHHEARAER B 12 0.030 [ < 0.0060 ) ~ 0.082
EEE 1] B 12 0.10_|¢ 0010 ) ~ 0.48
HFBEHEB A 12 0.046 |( 0018 ) ~ 0.11
T iAERHE B 12 0.27 |C < 0.025 )~ 0.75
PRI R ZESBRSIT(FXELE—) B 12 0.43 012 ~ 1.3
FEBE B A 12 1.3 024 ~ 3.8
EHREHEB B 12 6.4 082 ~ 15
ZEEHAER B 12 1.3 028 ~ 3.5
EmMmERE BB B 12 1.7 049 ~ 3.8
FHAEXABHD B 12 2.6 045 ~ 5.6
FEH&RF(EH) B 12|( 0.18)|( < 0019 )~ 0.72
EHABBEHHIR B 12 028 | < 0.0090 ) ~ 1.1
BRI R B 12 0.31 0033 ~ 0.74
X2y EAER A 12 0.28 0034 ~ 0.73
BLARERAES B 12 1.1 033 ~ 2.4
REEREFD B 12 1.8 032 ~ 7.4
BLBYIRIBEBEHFARAER B 12 15 056  ~ 3.3
B3 B/\EY /B B 12 0.96 |( 016 ) ~ 2.8
)2 HFXERB B 12 044 |C < 0.022 )~ 1.3
#WE)NE |EEHFERX FERERZERBD B 12 045 |( 0.030 ) ~ 1.1
)R )T ISE RN N L) B 12 1.3 047 ~ 3.6
EEIN-EE2 T #ENEERB B 12 0.90 ¢ 0.020 )~ 3.0
FRE FBHER BiEE B 12 0.99 020 ~ 2.0
EmH PAGIEE 3] B 12 12 ¢ 0.090 ) ~ 3.3
L BREHAIRAEREELEAE B 12 0.19 0082 ~ 0.38
£R BRIB B 11 012 [ < 0011 ) ~ 0.30
A AR %5 < T FriAlER B3 12 0.19 0026 ~ 0.40
T B FAEB A3 12 0.66 [( < 030 )~ 2.1
B RFH BTrEBEFIRE B3 12 0.96 022 ~ 2.1
BpF EZEBHEHIRB A 12 0.94 031 ~ 1.8
E&h SRR D B3 12 025 [ < 0.060 ) ~ 0.50
AT WAEZEZR B A3 12 0.47 0.069 ~ 1.3
B THE KK B HBRIER Ry, 12|( 021)]C < 030 )~ ( 0.57
SERAH P X R-257:R%E B B3 12 0.19 |( 0.056 ) ~ 0.46
=M BH#=8RF B 12 0.29 0084 ~ 1.0
e EHRE E3ETE] Ry, 12 0.51 017 ~ 15
ZHEHItR L FKERLEEMB B3 12 0.64 015 ~ 1.7
L B i) Ry, 12 038 | < 0010 ) ~ 1.2
FE W T ISR ERRBER B3 12 0.26 0023 ~ 0.62
FRTH TRHEHRD FS 12 0.26 0.056  ~ 0.88
ERADAE B AT REEBEHFIRAESD Py 12 0.43 011~ 0.98
ShEEm EiE23 5 85 R B3 12 044 [ < 0021 )~ 0.55
HiF BHEZR B3 12 027 [ < 0.018 ) ~ 0.92
EidicE (A HEFH B3 12 0.50 020 ~ 1.2
W W B B 2T D B3 12 0.21 |( 0013 )~ 0.65
N ATER A 12 2.8 074 ~ 6.5
PN BRGLEBEL S4B A3 12 3.2 070 ~ 7.6
PO R T 5] 5% 7 {5 B 32 378 358 55 1 &) Ry 12 1.1 050 ~ 2.4
WEHERHR REEBHEINER oy 12 0.17_|¢ 0031 )~ 0.40
Bl RE)F B3 12 049 [ < 0019 ) ~ 0.66
BmEH o) B3 12 0079 [ < 0.0073 ) ~ 0.33
EEm ETDESA B3 12 0.18 |( 0091 )~ 0.40
EBREH B ER B A 12|( 0.28 ) 0.060 ~ 0.63
=i AR B SH OGRS E B A ER Ry 12 030 |C < 0.020 )~ 1.1
B ELES-300) B3 12 0.10 0.068 ~ 0.14
KFh KFHEFEE B3 12 0.13 0037 ~ 0.33
AT FEEEBHR B3 12 0.19 0016 ~ 0.74
B¥m ABAED oy 12 0.53 0059 ~ 1.7
T BET RERFAERD Ry 11 0071 [ < 0012 )~ 0.20
LEEHEX tALBIER A 12 0.091 |( 0019 )~ 0.28
=R ZRE AR B3 11 025 [ < 0.030 ) ~ 0.98
meth B ERH A 12 0.086 [( < 0.0019 ) ~ 0.21
i REKEFEFR TIH oy 12 0.12 0042 ~ 0.37
S = B3 6 0029 [( < 0015 ) ~ 0.089
JEAMEFTR P9 =18 5E FT B3 12 0.043 [ 0011 )~ 0.084
JEAME /BB X |78 A BT E AT B3 12 0.049 [ 0012 )~ 0.12
EEmHERK BB B3 12 0.064 0025 ~ 0.20
)| B3 E Z BT EaHB oy 12|( 0.054) |( 0.0034 ) ~ 0.20
1RIB D oy 12 0.15_|( 0014 )~ 0.51
IS TH TS B3 6]( 010){C < 020 )~ ( < 0.20
BEAER oy 12 0.092 [( < 0.050 ) ~ 0.31
KEETD B3 12 0030 [ < 0.0090 ) ~ 0.31
HKAEH B 12 0022 [ < 0.0090 ) ~ 0.21
RIFFERE B 12 0.043 |C < 0.0045 ) ~ 0.14
NAB B 6 0029 [( < 0.0046 ) ~ 0.079
AR B 6 0034 [( < 0.0036 ) ~ 0.10
WEB B 12]( 0.021)[( < 0.0090 ) ~ 0.051
HIER i 12]¢ 0.018)[( < 0.0090 ) ~ 0.053
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